
FLOW DESIGNS
STANDARD NUMBER PLATE BRACKET



OPTIONAL DOUBLE SIDED TAPE

OPTIONAL STAND OFF SPACER

OPTION 2aOPTION 1a OPTION 1b OPTION 1c OPTION 2b

X 2X 2X 2 X 2X 2

CONNECTOR
BOLT

BLACK STAINLESS
M6 X 20MM

CONNECTOR
BOLT

BLACK STAINLESS
M6 X 30MM

CONNECTOR
BOLT

BLACK STAINLESS
M6 X 15MM 16mmWASHER 16mmWASHER

+ +

10G X 25MM
SELF-TAPPING

SCREW

10G X 38MM
SELF-TAPPING

SCREW

PRIMER
+

X 1

X 4
3M DOUBLE
SIDED TAPE

X 4

STAND OFF
SPACER

SPACER DOUBLE SIDED
TAPE

Mount bolts / screw through slots to suit
factory mounting holes on vehicle.
Choose slots to suit desired number

plate position.

HANDY HINTS

Use provided washer when using screw
Mounting Option.

HANDY HINTS

INSTALLATION DIAGRAM - STEP 1
MOUNTING STANDARD NUMBER PLATE BRACKET TO VEHICLE

To use Double Sided Tape as padding
inbetween bracket and vehicle, apply primer

to back of Number Plate Bracket.

Apply double sided tape to primed area. Only
use one side of tape to adhere to bracket.

Insert mounting bolt / screw through number
plate bracket in desired slot then push bolt

through optional spacer.

Install spacer with teeth facing inside towards
number plate bracket. Add additional spacers

if desired.

INSTALLATION GUIDE

• Remove existing number plate from
vehicle.

• Choose Bracket Mounting Option to suit
vehicle.
- Option 1 (M6 Connector Bolts)
- Option 2 (10g Screws)

For additional mounting options, refer
to installation guide on separate page.
- Mercedes Rear (M5 Bolts)
- Alfa Romeo Rear (10g Screws)

• Select correct length bolt / screw (a,b or
c) to suit Mounting Option. Use shorter
bolts / screws if spacers are not used.

• Insert bolt / screw through number
plate bracket and optional spacer then
align to vehicle.

• Tighten Mounting bolts / screws to
secure number plate bracket to vehicle.

BRACKET FITTING KIT

2b

1a

2a

1b

SP
SP



FLOW DESIGNS
STANDARD NUMBER PLATE BRACKET
ADDITIONAL MOUNTING OPTIONS



MOUNTING STANDARD NUMBER PLATE BRACKET TO VEHICLE

X 3

STAND OFF
SPACER

SPACERALFA ROMEO

X 3
16mmWASHER

+

10G X 25MM
SELF-TAPPING

SCREW

INSTALLATION DIAGRAM - ALFA ROMEO REAR

ALFA
ROMEO

FITTING KIT

INSTALLATION GUIDE

• Remove existing number plate from
vehicle.

• Align and thread screws with washers
through Standard number plate bracket
to OEM rear mounting plate holes.

• Push screw through provided spacer
with teeth facing inside towards the
number plate bracket.

• Adjust up or down to suit your
application.

• Tighten Mounting bolts to secure
Standard number plate bracket to
vehicle.

STAND OFF SPACER

Insert mounting screw through number plate
bracket in desired slot then push screw

through spacer.

Install spacer with teeth facing inside towards
number plate bracket. Add additional spacers

if desired.

AR

AR

AR

SP

SP

SP



INSTALLATION DIAGRAM - MERCEDES REAR
MOUNTING STANDARD NUMBER PLATE BRACKET TO VEHICLE

MERCEDES
REAR

FITTING KIT

INSTALLATION GUIDE

• Remove existing number plate from
vehicle.

• Align and insert bolts through Standard
Number plate bracket to 4 OEM rear
plate mounting holes.

• Tighten Mounting bolts to secure
number plate bracket to vehicle.

X 4
BLACK STAINLESS
M5 X 20MM

MERCEDES
BENZ REAR

CONNECTOR BOLT

MERCEDES

ForMercedes Benz Rear number
plate, align and use these

mounting holes.

ForMercedes Benz Rear number
plate, align and use these

mounting holes.

MERCEDES REAR
MOUNTING

MERCEDES REAR
MOUNTING

MB

MB

MB

MB





OPTION 4

OPTIONAL DOUBLE SIDED TAPE

OPTION 1 & 2

OPTION 3

INSTALLATION DIAGRAM - STEP 2
MOUNTING NUMBER PLATE TO STANDARD NUMBER PLATE BRACKET

INSTALLATION GUIDE

• Choose Plate Mounting Option:
- Option 1 (6mm Dress Bolt)
- Option 2 (6mm Countersunk)
- Option 3 (8mm Dress Bolt)
- Option 4 (M4 Rubber Nut)
- Option 5 (Kingpin Bolt)

• Insert bolt through Standard number
plate, then align and mount to number
plate bracket.

• Tighten Plate Mounting bolts to secure
number plate to bracket.

If Rubber Nut option is used, Stand
off Spacers are required. Insert

Rubber Nut into hole before mounting
number plate to bracket.

OPTION 5 - KINGPIN COVER

1

1

2

5

5

3

3

2

4

4

6mm Bolts to be used on Standard
Metal number plates.

8mm Bolts to be used on Standard
Polycarbonate/Acrylic number plates.

NUMBER PLATE FITTING KIT

To use Double Sided Tape to mount to
bracket, apply primer to back of number plate

and face of number plate bracket.

Apply double sided tape to primed area
before peeling tape backing.

X 2
BLACK STAINLESS
M4 X 12MM

M4 RUBBER NUT
+

X 4X 4

DRESS BOLT
BLACK STAINLESS
M5 X 6MM

COUNTERSUNK
BLACK STAINLESS
M5 X 6MM

X 4 X 4

OPTION 1 OPTION 2 OPTION 3 OPTION 4 OPTION 5
POLYCARBONATE /
ACRYLIC PLATE

KINGPIN
COVER BOLT

PRIMER
+

X 1

X 4
3M DOUBLE
SIDED TAPE

DOUBLE SIDED TAPE

DRESS BOLT
BLACK STAINLESS
M5 X 8MM

COUNTERSUNK
BLACK STAINLESS
M5 X 14MM



PARTSANDFITTINGKIT
STANDARDNUMBERPLATEBRACKET

X1
STANDARD

NUMBERPLATEBRACKET

PARTSLISTOPTIONALACCESSORIES(SOLDSEPARATELY)

Altrexnumberplatecoverstosuit
Standardsizenumberplate.

Kingpinnumberplatecoversto
suitStandardsizenumberplate.

ALTREXNUMBER
PLATECOVER

KINGPINNUMBER
PLATECOVER

STANDOFF
SPACER

X7

DOUBLESIDED
3MVHB3M
TAPE

X4
PRIMER

X1

SecurityBoltswithSecurityKeyto
mountnumberplatetobracket.

SECURITYBOLT
PACKOPTION

X1X1
4MM

ALLENKEY
3MM

ALLENKEY

X2 X5
16mmWASHER16mmWASHER

++

10GX25MM
SELF-TAPPING

SCREW

10GX38MM
SELF-TAPPING

SCREW

X2 X2

CONNECTOR
BOLT

BLACKSTAINLESS
M6X20MM

CONNECTOR
BOLT

BLACKSTAINLESS
M6X30MM

X4 X4

DRESSBOLT
BLACKSTAINLESS
M5X6MM

COUNTERSUNK
BLACKSTAINLESS
M5X6MM

X4X2

POLYCARBONATE/
ACRYLICPLATE

BLACKSTAINLESS
M4X12MM

M4RUBBERNUT
+ DRESSBOLT

BLACKSTAINLESS
M5X8MM

X4

KINGPIN
COVERBOLT

COUNTERSUNK
BLACKSTAINLESS
M5X14MM

X4
BLACKSTAINLESS
M5X20MM

MERCEDES
BENZREAR

CONNECTORBOLT

X2

CONNECTOR
BOLT

BLACKSTAINLESS
M6X15MM


